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int hash(int key, int mod) { I/ ISR

int hv;
hv = key % mod ;
Table[hv]++;

return hv;
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int store(CELL *table, int size, int cons, int inv) {
unsigned int adr , // hash #OF MR 25
count =1 Il YRARIEL

adr = hash(inv, cons) ; // hash fE% &5
while(count <= size) {
if (table[adr].key == INTV) { /I adrsi FHITZENTUNND
table[adr] key = inv ; /1 adrs & HIZ KA

Frq_prob += count;

return adr ;

}

else if (table[adr].key != INTV) {  // adrs FEHITZZ2 T/
if (table[adr].key ==inv) 11 AN IE I EEREAA
return FLS ;
adr = prob_lin(size, CONSL, adr) ; // kD ZE & Z i GIRIZRA1R)

++count ;

}
return FLS ;



